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9 |[77Va=kJ)L 0.021 80 0.001 80
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11 |7V R A 0.096 0.096
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18 [ 7=V 0.043 0.003 0.046
19 [1—73/—9, 10—T7>r7%
20 |2—T3)xHK)—)L 168 55,573 4,719 60,460
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22 |74 7m=)L 36 48 85
23 |XTG—=T3)Tx=/)—)L
24 |\ AR—T3I)Tx/)—)V 3.0 3.0
25 |[ANT Vv
26 |3—T73I/—1—7m~
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61 |~rx7 50,525 50,525
62 |~ratr 282,554 282,554
63 |7 YT aIR 3,259 3,259
64 |Th7xr Ty IR 1,628 63 1,691
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256 | T AWk 4.3 4.3
257 [T Hh /) —)v 0.003 0.003
258 [ NFHAFL T ETI 0.78 5,805 0.040 5,806
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271 |TL 7 HIVERY AF )L
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273 | /)V<=)L—RT LT )Lba— L 0.25 52 0.00002 52
274 | =¥V —RTho T4 —v
275 |RT T IVHiEE R A 99 322|  0.035 38,291 1,455 40,168
276 |ThTmFL LA 2.3 2.7 5.0
277 |[NZ=F LT3 63 27 90
278 |[NJ=FL T hI3 4.5 18 22
279 |1, 1, 1—RF)Zpoox
280 |1, 1, 2—RN)rpooxx
281 |NJZom—FL > 2,512 0.36 15 2,527
282 |~ oz 1.0 0.75 1.8
283 |2, 4, 6—KN)/ou—1, 3, 5—NT7
284 |CFC—113
285 |rvoot sy 34,377 34,377
286 |FJ7uE L 132 132
287 |2, 4, 6—N)/upr=/—)L
288 |CFC—11 6,243 6,243
289 |1, 2, 3—RJroar o i
290 |NZumo X ¥

1, 3, 5—hJA(2, 3—TRF> 7t /L)
291 |—1, 3,5—RM)7Y—2, 4, 6(1H, 3H,

5H) — k4>
292 |NVZF LTI
293 |[RUZ LU 592 592
294 12,4, 6—RN)7oE7x/—)L
295 13, 5, 5—FIAF )L—1—~FH /—/L
296 |1, 2, 4—RIAF LB 10,637 578 486 431 15,683 137 9.2 265 28,225
297 |1, 3, 5—RIAF LB 4,282 318 132 6,691 593 9,456 676 351 1,892 157 26 24,575
298 |NIL oAV T F—h 2.1 2.1
299 |fLATL 0.011 0.011
300 by 96,922 39 1.6] 3,951 35,547 5,396 493 201,601 8,222 2,232 20,622 1.7 28 57 3.3] 375,118
301 [PV o7y
302 |F7HL 844 44 1.1 707 169 3.2 1,769
303 |1, 5—FTT7XZL L IAN =AY T F—h
304 |43 0.023 0.023
305 gAY 5.0 34 25 42 106
306 | T ZUNERA~FH AT L 0.050 0.050
307 | M kR by va=0 A
308 |=v v 0.0006 0.0002 0.0008
309 | =T UALEY) 3.8 139 8.4 14 165
310 | =k = kR
311 [FNbh—=baT=Y—)L
312 A Nb—=btaTr=J
313 |=hZ Uk
314 |NNT—=ppZup~ B
315 [ AN bh—=bElL =z
316 |=ha B 0.26 0.26
317 |=haA& 0.040 0.040
318 | “HifkxH 0.24 0.004 0.24
319 | /v~ — /=)L )La—)
320 | /=T x/)—)L 0.021 0.22 0.24
321 (INFUUMEEWY 0.057 21 0.87 22
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394 1, 3—15‘3[(2, 3—TARFT T ar L) A

R
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326 (/a7 F T
327 |1, 2— bR (2— a7 z=)L)ERTI
328 [TTA 0.80 32 0.30 33
329 |ARYA— 3 A—} 982 982

LA (1—AF N —1—Txz=)LTF)L) =2
330 pytue 3.4 0.003 3.4
331 | HXHYRA 48 48
332 |{MFE R OPZFOERILEY 0.000009 3.7E-08 2.8 1.2 4.0
333 (kR 3.3 3.3
334 |[A—bRuXi 2 B EBATF IV
335 IN— (4—kFaXs 7xz=/L) 7¥r73IF
336 |[BRm¥ /v 3.8 1.6 5.4
337 [A—t =)L —1—ra~Ft
338 |12—F =LY
339 [IN— b=/l —2—t'alJR
340 [ 7x==/L
341 [TV
342 Y 0.33 3.0 3.4
343 [ hTa—v
344 | T =)V FFT T
345 |7 ==)LERTFV
346 |2— T ==V 7 /—)L
347 IN—7xz=/)L<L AR
348 [Tx=L L UT I
349 | 7= /)—/L 24 0.30 8.9 33
350 |~V AR 202 134 336
351 |1, 3—7 &> 208 301 6,296 244 350 3,072 2.2 74 10,548
352 | ZHNEE TV
353 | 7H IR =F L
354 | ZHRNEEY — )~ )L — T F )L 5.5 34 291 331
355 | 7HIFEE A (2—=F )L ~FI L) 77 2.9 80
356 |ZHILER NI — T T =D 3.3 3.3
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259 //1/’\7/1:—7“%/1/—2, 3—xTARF 7

JLx—7 )b
360 |~ /3L 4,620 4,620
361 |2 mky T F L 128 128
362 [T 7z TFa 50 50
363 [ AXYTTV 16 16
364 |7z B EFT A—h 129 129
365 |BHA
366 |HX— ¥V —T7F)L=bRa~L4F R
367 AN N—FEHH)—TF Tz )—)L
368 [4—F—xV—TF)NTx/—)L 0.12 0.004 0.13
369 |7/ LE YR 330 330
370 |[EZ 620 620
371 |77 7 TR

N— (F—%)—TF)L) —2—_ VS FT
372 SV Z)VT 2T IR 19 19
473 2—H— ) =T F ) —5—AF )L T =

J—)L
374 | 5o bIKFE R OE DK IEER 1,905 1,128 3,033
375 |2— T T —)L
376 |7 X u—)L 192 192
377 |7Tv
378 | 7o R 280 280
379 |2— 7’ —1—F—/L
380 [\ —1211
381 |7 uETrnuAR 384 34 418
382 |~z —1301

1)-6




#4E 230 PEHIERN - R SV E W BRI O Pk H BEHERHRR (BT AR Ak LR [1. s RS2 B To S8 000§ 280 DL ~23. 7 SEFE e BE HI N % |

ALY

ERPEH & (kg/H, X A4 FEIFImg-TEQ/4E)

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
g Xt G 3AED ., | . . - . N —fBE | PEERE Az
o WE 4 . o "~ e " WRERLTE | Yergl. | BHRAE | A= | 723 e FRR BB BB | Wize . FUE |\ ALK | KGR | KA T &t

i Thogr| B R BEA R e A | oo o | AEE ) RIS | T  0 mener| com | E | mi | el | i
383 |7 o~ L 389 389
384 |[1—7mETm 8 2,190 2,190
385 |[2— T aETa
386 |EAbAT L 4,345 4,345
387 b7 =2 T HAR
388 |m RALT 7L
389 ?*ﬁ?wl/w}%”?/%:?bzﬁmu 7.0 1,111 2 1,144
390 [ NFHAFL U UTIV
391 |[~FPAFLL=UAVL T F—h 0.16 0.16
392 | L)L — ~FH 17,024 763 2,487 40,174 789 0.055 29 61,267
393 [ NFZFTh—)L
394 | VU LK OZEDILEY
395 |[~ULASY T RREROD KRR 7.8 7.8
396 |PFOS
397 |y =RralR
398 Mk~ DL 0.004 0.004
399 [N XTLFER 0.002 121 2,734 149 180 395]  0.55 0.000004 3,579
400 |~ P 985 9.1 4,503 246] 42,015 2,234 2,267 8,290 2.2 78 0.24 81 60,712
01 |10 2 A4—_BURNIIVR R, 2— 4

K
402 | A7 = F vk 214 214
403 [~ T 0.002 0.0002 0.002
404 | o HrmaTrx )—)L
405 [13HFLEW 297 14 14 9.7 335
406 |PCB

R (FFL2TFLr) =T LFLr—7 )
407 [ (TR FEDRBEIN12/:515FETDL 1,384| 15,255 25 360,859 2,085 379,608

DR OZOEAWIIED, )
408 i”_(ifi/iﬁ//)_jy%ﬂ/7i”l/ 133] 2,893 2.8 731 4.8 3,765

R (xR FLr)=RT v rm—7/b
409 | e 2 Ly 165 18,650 79,949 2,266 101,030
410 i%ﬁwiﬁ//)_/*"wji*"m‘ 1143 6,39 39 1,551 54 9,182
411 |[ARAVLBTILFER 12,688 136 1,028 370 16,823 477 5,676 8,925 6.6 37 122 271 29 46,589
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420 | AZZULEEAT L 420 69 1.4 491
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422 |72V 1,297 1,297
423 [ AF LTI 0.0002 0.0002 0.0004
424 | AFN=AIVF AT F—h 1,520 1,520
425 | TahvT
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